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ʋʩʣʦʚʥʳʝ ʦʙʦʟʥʘʯʝʥʠʷ:

- ʛʨʘʥʠʮʳ ʟʝʤʝʣʴʥʳʭ ʫʯʘʩʪʢʦʚ, ʩʦʛʣʘʩʥʦ ʩʚʝʜʝʥʠʷʤ ɻʂʅ;

- ʛʨʘʥʠʮʘ ʢʘʜʘʩʪʨʦʚʦʛʦ ʜʝʣʝʥʠʷ;
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- ʢʘʜʘʩʪʨʦʚʳʡ ʥʦʤʝʨ ʟʝʤʝʣʴʥʦʛʦ ʫʯʘʩʪʢʘ;

- ʥʦʤʝʨ ʢʘʜʘʩʪʨʦʚʦʛʦ ʢʚʘʨʪʘʣʘ;

- ʛʨʘʥʠʮʳ ʟʝʤʝʣʴʥʦʛʦ ʫʯʘʩʪʢʘ ʥʘ ʧʝʨʠʦʜ ʩʪʨʦʠʪʝʣʴʩʪʚʘ

ʚʦʟʜʫʰʥʦʡ ʣʠʥʠʠ ʵʣʝʢʪʨʦʧʝʨʝʜʘʯ (ʰʠʨʠʥʘ ʧʦʣʦʩʳ ʟʝʤʝʣʴ);

- ʧʨʦʝʢʪʠʨʫʝʤʘʷ ʪʨʘʩʩʘ ɺʃ 110 ʢɺ;

- ʩʫʱʝʩʪʚʫʶʱʘʷ ʪʦʯʢʘ ʛʨʘʥʠʮʳ ʟʝʤʝʣʴʥʦʛʦ ʫʯʘʩʪʢʘ;

- ʥʦʚʘʷ ʪʦʯʢʘ ʛʨʘʥʠʮʳ ʟʝʤʝʣʴʥʦʛʦ ʫʯʘʩʪʢʘ;
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- ʧʨʦʝʢʪʠʨʫʝʤʘʷ ʛʨʘʥʠʮʘ ʟʝʤʝʣʴʥʦʛʦ ʫʯʘʩʪʢʘ, ʟʘʥʷʪʦʛʦ ʣʠʥʝʡʥʳʤ ʦʙʲʝʢʪʦʤ

(ʧʨʦʝʢʪʠʨʫʝʤʘʷ ʦʭʨʘʥʥʘʷ ʟʦʥʘ ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʩʝʪʝʡ);

- ʧʨʦʝʢʪʠʨʫʝʤʘʷ ʢʨʘʩʥʘʷ ʣʠʥʠʷ;

- ʛʨʘʥʠʮʳ ʟʝʤʝʣʴʥʦʛʦ ʫʯʘʩʪʢʘ ʜʣʷ ʨʘʟʤʝʱʝʥʠʷ ʦʧʦʨʳ 
ʚʦʟʜʫʰʥʦʡ ʣʠʥʠʠ ʵʣʝʢʪʨʦʧʝʨʝʜʘʯ ʥʘʧʨʷʞʝʥʠʝʤ ʩʚʳʰʝ 10 ʢɺ;
- ʧʣʦʱʘʜʴ ʟʝʤʝʣʴʥʳʭ ʫʯʘʩʪʢʦʚ, ʧʨʝʜʦʩʪʘʚʣʷʝʤʳʭ ʧʦʜ ʦʧʦʨʳ
(ʚʢʣʶʯʘʷ ʦʪʪʷʞʢʠ), (F=n*(E+r)).


